Coulomb Active and Passive Earth Pressure Coefficient Tables
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Coulomb Active Earth Pressure Figure Defining Terms:

Note: Beta (the slope angle is shown positive, it can also be negative (i.e. a falling slope), the

angle p is equal to 45 + ¢/2

Ka:

Coulomb Active Earth Pressure Coefficient Table
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Coulomb Passive Earth Pressure Figure Defining Terms:
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Coulomb Passive Earth Pressure Coefficient Equation:

T

Note: Beta (the slope angle is shown positive, it can also be negative (i.e. a falling slope), the

angle p is equal to 45 - ¢/2

Coulomb Passive Earth Pressure Coefficient Table, K:

0.

BETA

=90a

ALPHA

BETA 5.

=90.

ALPHA

BETA =10.

=%.

ALPHA

385

652

992
8.186 9.




